ERHTF §5) BHREHRENHEYR - BRET 70K (1B : £

BE8DT>7

By = f(z) D777 LIZBER b= f(a) %I = (a,b) DEFXD (&) T
H5,

(1)

(2)

(7)

y=[f(x)+qD7773y=f(x) D777 %zAMA (y#ARE) I (+q) EIFF
TBBL-bDTH S,

y=fx—p) D777 y=f(x)Dr77%z2tEARA (x®#AM) I (+p) LIFTFE
TRELbDTH S,

B) y=2*ty=(z—p)?+q

y=cflx) D77 7F3y=f(z) D777 %zHtAmA (y#EARA) ICcBELLLDT
b5,

y=flcx) D777 y=flz) D777 %EAE @AM K IFELLLOT
bH5.

() y=sinz & y =2sinz & y = sin(2x)

y=—f(x) D7 773 y=f(x) D77 7% x#l (BEfRy =0) ICEAL THRHZE
BLZbDTH B,
(1) yzlogax&yzlogéx

y=f(—x) D777 y=fx) D77 7%yt (B xz =0) [CBL THITE
¥l b ThB*2,
@) y=a® & y= (1)

g(z) B f(x) DB DL E, y=g(x) DT 773y = f(x) DIT77%BER
y=z [CEAUTHMERL7HDTH 2,
B) y=a* & y=1log, =

*1 (1) DR ESE (c=
*2(2) ORI (c = —1).

-1).

*3b = f(a) 27T a,b ICHLTHIZ a = g(b) B ID L E, Tg(x) 1F f(z) DK THZ, &

.
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